Associative Property Of
Multiplication

The associative property of multiplication states that the
product of a set of numbers gives the same result, irrespective
of their arrangment.

Example > 3 X (4 x2) = (3x4) x2

>3 X8 =12 x 2
=24 = 24

Find the missing numbers using the associative property of
multiplication.

1] 3x (2x8) = (3x2) x __ (5x3) x4=5x (__x4)

12x(2x9)=(_ x2)x9 18x (8x1)=(18x _ ) x1N

(20x4) x6=20x (_ x6) (6] 6x(8x5)=(_ x8) x5

Find the missing number using the associative property of
multiplication. Also find the product.

7] 4x (2x1) = =(4x2)x

8] 9x (3x5) = =(9x3)x

9 7x@x2) =] |=(7x3)x_




Associative Property Of
Multiplication

Answers

The associative property of multiplication states that the
product of a set of numbers gives the same result, irrespective
of their arrangment.

Example > 3 X (4 x2) = (3x4) x2

>3 X8 =12 x 2
=24 = 24

Find the missing numbers using the associative property of
multiplication.

T 3x(2x8) = (3x2)x 8 [ (5x3) x4=5x (3 x4)

12x (2x9) = (12 x2) x9 18x (8x11) =(18x 8) xMN

(20x4) x6=20x (4 x6) (6] 6x(8x5)=(6 x8) x5

Find the missing number using the associative property of
multiplication. Also find the product.

7] 4x(2x1)=| 8 |[=(4x2)x 1

9x (3x5)=|135|=(9x3) x 5

9] 7x(3x2)=| 42 |=(7x3)x 2




